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AP Statistics Ch 27 Inferences for Regression
Textbook Ch27 (p.658) #3, 15, 27.

ression of the percentage-of re~

3. Na.opinion. Here's a re,
wstion ab

spondenis whose rést
- for.a-womanpre

the percentageof:

issuehas changed over theyears,

tong'for inference are satisfied.

Deperdant variable is;. No -Opinion

R-squared = 9.5%

8 = 2280 with 18 ~ 2 = 14 degrees of freedom

Variable . Goefficient. SE(Coeff)  t-ratio Pvalue

Intercept 7:68262 2.445 315 0007

Year ~0:042708 - 0.0358 -1.24 G.e488
&) State the appropiiate Aypothesis slope.

b). Test your hypothesisiand state your conclision vthe
proper context: ‘

¢} On the next page is the scatterplot cortesponding to
the regression for No Opinion. Fow does the scatter-

" plot change your opinion of the trend in “na opinion’
responses? Do’ you think the true slope is negative?
Does this change the conclision of your: hypothesis
test of partb? Explaiiv.

_/15. Cereal. A healthy cereal sf
and sodium. Data
judged aceeptable: f

320 mg of sodiu
shown.

Dependent variable is: Sodium.
R-squared = 8:0%
8 = 80.48 with 77 —@2'= 7

Variabls,  Cosfficishe

Intercept: 21,4143

Calovies  1.20357

a) Is there an association between the numbes

ries and the sodium conten
b) Do you think this association is shrong en
useful? Explain.
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27, Printers. In March 2002, Consumer Reports feviewed-

several models of inkjet printers. Shoiwn are the speed of
the printer (in pages per minute) and the cost per page
plmted Is there evidence of an association between speed

id cost 'Iest an. appmpriate ‘hypothesis:and state your
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